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GENERAL STUDIES - |

Time :
3 Hours ] [ Ful Marks : 300

Section -1
Qug - |

1. Write short notes on the following :

Frmafirfian w s fowforat fefers

(@) The Indian Councils Act, 1861.

I aftyg ity 1861,

(b) Role of Bihar in the Quit India Movement.

HWRA BISt 3N=IeH 3 fagr it yfir.

(c¢) Santhal uprising.

T fegre.

(d) Patna Kalam painting.
91 Faq faasar.

(e) Art and Architecture of Mauryan Age.
TRl Al Td Tl

(a) Describe the Champaran Indigo Movement and explain its impacts on the

2.
38

Indian freedom struggle.

TR e SIE 1 0 KT qor et T Fo R 5w i o

STEIT HIfT |
Or/ &t
(b) How far the British policy was responsible for the emergence of Indian

National Movement ? Explain.
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. ion in Bi id-nineteenth
(a) Examine the expansion of Western Education in Bihar from mid t

century onvsard.

o

frzm 4 z<fm=toAT=A F AA I gmaf"'amﬁmmﬁama—rmm,,__h.

(b) Assess the constructive works of Mahatma Gandhi.

Or! Hu=n1

(W]

T i e ] F A e, |

Section - |l
=z -l

4. Ansvier the folloying questions :

fAofanza g1 = 20 2iav0, .

(@)

(b)

(c)

Discuss the direction of unity and coalition politics of opposition parties =fi=" =
defeat of Aam Aadmi Party in Delhi Assembly Elections, 2025.
WTE{WQ’IERHZO%TI mmqmzﬂwmai?mmmm =A%

¥ TZ==4 F1 TFA 1 725 == FifFu |

Rassia-Ukraine v/ar has completed three years. Throwing light on the causzs &
this war, and discuss its effects on the World politics.
ZA-TFA T F AR TP AW E | 79 g2 F RN W AEE TAA 5% T
ZAR fava AR T 723 914 TdEi 1 T fifao

tAaha Kumbh Fair was organized in India from Monday, 13 January, 2025 1o
26 February, 2025. How v/as this fair a symbol of Indian culture, religious &=

and social harmony ? Explain with examples,

qrq 4 ﬁ’l’ﬂﬁ, 13 =[4971, 20251 2¢ TG, 2025 9F g1 FHEd 94 ® AT
f=m ; e ) a7
A= | T2 g MUAE BPEE, a6F faoam o gyt gwed =

fi

(2) ( GO
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d : in Bi
(@) Throw detaileq light on the need and importance of caste based Census In Bihar.

= .
(€) Analyze logically what the future of the United States of America will be at national

@)

(b)

%’mnaﬁmm&aﬁmﬁmm 3in e . fard T ST |

and intemational level under the leadership of newly elected President Donald

Trump.

Fitaa T ST 71 % 9 Hm e i w T T
SR TR W 9 FE G, A iea fagerm it |

Uttarakhand has became the first state to implement the Uniform Civil Code in
India. Explain the Uniform Civil Code in this regard. Also explain with examples

what changes will it bring to the Indian society on social, cultural, religious and

legal basis.

SHINEYZ 9T T TEGHH N0 Higdl 0] F JTell Tael T4 =4 T 2 |

=g T34 T EFaaH INH Hiedl i auZEa | 914 € Y quAE g9 §

OIS, AEFaE, GHF 941 FEA SR T F 4 IREGdH 20 1 I
TfzA oT= H4T |

Or| AF=1

Discuss the Constitutional provisions governing Presidents Rule in lndia,
iving reasons for the imposition of Presidents Rule in Manipur recently and
givi

valuate its effectiveness in the present times.
S0 €

al
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" 6. (a) Discussthe concept of ‘One Nation, One Election’ and its implication on

the federal Structure of i, What are the potential advantages and

disadvantages of Synchronizing elections to the Lok Sabha and State
Assemblies ? Analyze.

‘@W’W%’éﬁmma&nw%mﬂaaﬁmmﬁﬁmmw

X |@Waﬁtmﬁmﬁ%§q@aﬁ@;mamﬁ%mrﬁmm
3N THEM 7 § ? fovaifta 6 |

Or/ 3rorg7T
(b)

Throwing light on the reasing women participation in Indian politics and

society and the Women's Reservation Act, 2023 (Narishakti Vandan Act, 2023),
Analyze the social, economic and political chan

due to its implementation,

wﬁhwﬁﬁf@mﬁmmmﬁmmﬁwwmaﬁﬁm
2023 (AR a7 Afafm, 2023) TSR ST §U, 3% Be=E g
ﬂﬂaﬁammﬁ‘aﬁﬁm@r;{mﬁa,mwmmwﬁaﬁwmﬁﬁm

ges taking place in Indian society

38

Section - lli
Qs -l

i d, qualified and
7. The following table demonstrates thgorr]‘u;?ct))ﬁr z\fl gagg?eégegeé;ﬁfesif;aczal E s
' : itive examina 7
A aPCZ(r:quepser:n(“llJeP.), Punjab and Haryana over btgli vﬁalrs 1994 to 20
(S}-tl-Zi),trhjattgblercarefully and answer the questions given
uay

U.P Punjab Harvanal
. H.P. i - -
Delhi 3 islzl 2 lelsl 2|2
- 32 |2|8| E(2&|E|5|2|8] 5|3
2|2l S |£|3|5|E|3|8 |8 S| 2 1%|82
1 -_— (7] o 3 Q )
Year 8 :‘_: 2| 2 S |5 g glo| T |lo|lo| < | O
o s | @ 2 | g |ow
o 7 400 | 700 | 75
< |° 1 70 62 | 7500 720 | 78 | 8200 | 680 82 673100 0017
0 E== prey 7
1994 | 8000 | 850 | 94 | 19'3'5‘?)? 65 | 5600 | 620 | 85 | 6800 2(2’2 AL
1995 | 4800 | 500 | 48 L’séo’—ﬁ 4800 | 400 | 48 | 6500 S AT
1996 | 7500 | 640 ‘i%_l@-é—z—;”g 7000 | 650 | 70 | 7800 | 72
=20 1750 5 86 |
1997 | 9500 | 850 [ 90 [ 8800 | =

8500 [ 950 | 80 | 5700 | 485 | 60 | 4500 | 600 75

~
(8)]

0 — m 650 | 80
1998 | 9000 800 | 70 | 7200 %—m 9000 | 920 | 75 | 6000 | 490 | 65 | 5500 ) |
1999 | 9200 [ 780 [ 75 | 8000 | 879 —

[ 50( 78
8000 [ 900 | 82 [ 6300 | 500 | 62 | 6000 | 620 ] ™°.

(o]
[e¢]

\

2000 | 8800 | 750 | 72 | 8500 | 999

(8) ( Continued
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Rraiied Wl w1094 A 2000

), (et o (9,

¥, as ‘ ‘P(;(‘ . o
o \\‘ :n\hc\ e Wi v =
R (@), s e s A s el v R =

NI e AR TQR‘Q ’("Q"
andlaan) #) wen @) waila UGN wn.\\@‘h A

A REgp— R
AR R gy e an o il

e TR e R el & 1B A
|

Rt | Rw | sw | vow g

[

:/:A‘= :1

o
lhl“'=t
B

Zil

7804 | 2000 | 880 | 94| w00 |10 | 8o | 7500 | 720 | 78 | 8200 | 680 | 85 | 6400 | 700 | 75
11908 | 4800 | 500 | 48 | 7500 | w00 | 6 | 5600 | 620 | 85 | 6800 | 600 | 70 | 7100 | 650 | 75
Lreos | o000 |82 ] 7400 | 560 [ 70 | 4800 [ 400 | 48 | 6500 | 525 | 65 | 5200 | 350 | 55
11997 | 9800 | 250 | 90 [ 8800 | 920 | 86 | 7000 | 650 { 70| 7800 [ 720 | 84 | 6400 | 540 | 60
L1888 | 2000 |20 | 7o | o0 | sso | s | ssoo | 50 {0 | 5700 | 485 | 60 | 4500 | 600 | 75
11999 | 9200 | TRO | T8 | 8000 | 870 | 80 | 9000 | 920 | 75 | 6000 | 490 | 65 | 5500 650 | 80
{ 2000 | :\R\\\‘SO ‘,: 8500 | 900 | 88 | 8000 | 900 | 82 | 6300 | 500 | 62 | 6000 | 620 | 78
1 For which State the average number of candidates selected over the years is
maximum ? 6
e o % TR R A i sefieart w0 siwa silitean R 7
o) Forwhich year the percentage of candidates qualified from Haryana over the
candidates appeaared from Haryana is highest ?
e Y & TR el ¥ sRa W IRficaRi i ghamn ¥ wive sefiean °
W yiaTE A aw ® ¢
&) Inthe year 1999, which State had the lowest percentage of candidates selecteq
over the candidates appeared trom that State ?
=¥ 1000 ¥ fm Tew 1 wafi| w'ﬁﬁﬂ‘mmésnﬁam@ﬁ-“m 6
g % 7 * \
(d) For which State the ratio of candidates selected and the candidates qQualif;
highest for the year 1997 ? ‘ ified ig
%%n‘:u%%i%iﬁaéwmfiwﬁamﬁaﬁtmmw-mw 6
sfueam R 7 S
(e) Which state has the highest percenl;gf: o(tj to}al candidates Selectg Ove
total candidates appeared from et ;qeﬁaunng the years under Cong; " the
Fovey 11 B ferrd 9 & AT Ff S I

mﬁq{ﬁﬁﬂﬁﬁrﬂﬁq%? i

(5)
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() Find the ratio of the total candldates selocted, quallfied and appeared from U.p.
during the year 1994 1o 2000.

2 19948 2000 % A 3.9, A Pt TR, AN W v e IeeEE
% HATA Td AR |

Or/! YA

The bar diagram given below shows the production (in tons) of three crops — paddy,

wheat and maize during the year 2002 to 2005 in a country. Study the diagram
carefully and answer the questions given below it :

g %E -| ) @Paddy OWheat E/Z}/Iaize ///
= ig: 1 a8
il //

2002 2003 2004
Year

Hi= fean man Trartea Tt o & 94 2002 @ 2005 % /A o wEA-uH, A 3k
Hah & IR (7 o) =l guian 8 | o o1 emgdes stere A 3t 3w N fen
T I % I G

%0 1 DYA O OFFH
80 -
70 -
60 -
50 -
40 A
30 =n
20 -
10 -

— 3

IqrEd (T H)

T

2002 2003 2004

o

2005

(a) What is the ratio of total production of paddy, wheat and maize in the county ¢
during the year 2002 to 2005 ?

!
émﬁaﬁzoozﬁzoosé;‘cﬁmW,ﬁ{aﬁxw%ﬁmmmw%

]
(6) ( Conliﬂued

/



ion of the
total production
(b) The {otal production of maize is what percentage of the P

6
; ' tion ?
{hree crops during the years under considera ) RpaAT
JEC Rl T <l
aamvﬁqaq*i%zammwg@awrﬁ,ﬁ & e S
yfererd & 7
(c) The average production of wheat is what percentage of the average production
of paddy during the years under consideration ? 8

RrarasfA =6 3 A T 1 aiad seared, T 3 SEd Seared i fhanr i
27

(d) What percentage of the production of maize should be increased or decreased,

so that the total production of maize is exactly half of the total production of paddy

in the country during 2002 — 2005 ? 8
T T IcATEA had wliTd sern FAYen wermn e iR @ § 2002 — 2005

N He<h h1 ol ST, U S FHS IcATGA 1 3leh T A AT, ?

(e) If in the year 2004, the production of wheat is increased by 50% and the

production of paddy is decreased by 40%, then the production of paddy will be
what percentage of the production of wheat ?

. o . ) 5
e = 2004 H I BT I 50% TG S } A AW B I 40% 7w N
I R, A UM T IS, g ok I TR e 2o 2

8. The following pie-charts represent the expenditure _(in rupees) of two famil

B. Study the charts carefully and answer the questions given p elow theml‘-|es A and
Food Eaod
Clothing 640 00"
=540 AT - -
4:_Miscel|aneous Tk 64 E
‘ HH ToL=IsniIiiis Mi
BEEEESE \-- House rent : v SCellangg,
=ozazamozoniqt
2> CEEEEREREER S
- CCHELEE e
Family B
. - Rs. 30,000) (Total Expenditure : Rg_ a
(Total Expenditure - % 45,000

( Turn OVer)
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= % tmfes 2 ThEE AT B F 34 (FT1 B) Wl T 8 | Wit o o

ol
|
!

==z F 52 T8l ;'-7:;':1:1—';'%37]3 95"%33(%&:
HI=H B IEE
/
7/
j -
| TS L
| 64°
7 3% 64° ST
\ eV e Yy
il B :
/ L EaC RETID) i R /
/ TmI-l-zezezide oK
2 Pttt I O
ooIziiiism R
SCERE T IR
"-‘..:-i TR %

( : ""’ﬂg A30 000) | qiar B
$d =47 : Rs. 30, (39 =14 : Rs. 45,000)
/ : :

(a) What is the total expenditure of the two families (in rupees) on food ?

6
b C
ZH1 I w®- T =g (T o) fram ® 2
(b) The total expenditure of the two families on fuel is what percent of the total
expenditure of the two families on clothing ? 6

21 uftar &1 399 | g3 B WY IAh FUS! § §U FAd @ bl fehe wfow @ 7

(c) If the expenditure of the two families on food and house rent is increased by
20% and 30% respectively, then what will be the percentage increase in the total
expenditure of the two families combined ? 8
oz 3Rl wiarl ¥ Wi 6w fren § 2R AT o § e 20% U 30%

o & e 2, A 2R ol < v o 2 o) g o A R T
gig & smrft ?

(8)
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g The expenditure on clothing for the two families is increased by 15%. What
1

sercentage Of expenditure on miscellaneous should be decreased by the two
P
families separately, so that their total expenditure remains the same ?

24 ohEd H FI8 WA I = | 15% ) gfg & 9w R | Qe afed

-t fafay 71 H BN At == 1§ fra -fea whoa 6wl 6 s, @fe
FHE T S AAiEtid W@ ?

(e) lfthe expenditure of the two families on food, clothing and house rentis increased

by 10%, 20% and 30% respectively, then find the ratio of their total expenditures
on food, clothing and house rent.

e TR IREW WS, T2 T TR R BN T s ® s 10%,
20°/oam30%®qiz€:miﬁ% A ITH WS, mamwﬁmﬁﬁaﬁaﬂé
ENERR agqmmaﬁtﬁiﬁ \

Or| 3Ayganr

The following graph shows the exports from three companies X, Y and Z (in Rs

Crores) during the year 1993 to 1999. Study the graph carefully and answer the
questions given below it :

150 B
140 /-‘Qﬁ’mpany Y
130 7
Caom
RV Rany X
21 // /f
% 10 Company 2z
m‘ ~——
[
£ R,
S R =i
5 -
o
E
<

1003 ' 1005 1096 1997 1998 1909
e Yoars .
. any Y - company X s Company Z
—g— Gomp
(9)
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ﬁﬂiﬁ(@gwﬁ‘
@ & . > & af 1993 & 1999 % QT FL A iy
%%l&mm&%%ﬂﬁﬁﬁ@@%wm:

150
140
130
120
110
100
90
80
70
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50
40
30
20
10
0

afdr (g ot )

Em Y
7
P —~—
ATRE] 7
/ - , //
>\/ SN/
X>< —=F
ol
1993 1994 1995 - 1996 1997 1908 1999
—B—-HTOHT Y

——FIf X 2Ty 7

(@) Which company had the steepest rise in its exports compared to the previous
year and in which year ?

%amﬂﬁgqﬁaﬁﬁﬁséaé%&ma@r,wmquéqémaﬁﬁ?

(b) Which company had the highest percentage increase in its exports in the year

1999 as compared to the year 1993 and what was this percent ?

g et & o 1903 it gory 3 9 1999ﬁﬁqiaﬁ3ﬂi§a:aquﬁmaq%§§
IR 7% forae wfem off 7

© Ifinthe year 2000, the exports of the three companies X, Y and Z are increased

by 10,

Year, then what Will be the ratio
R T 2000 1 iy FER X
PR 100, 20% AT 30%

20% and 30% respectively as Compared to their exports in the previous

of their exports in the year 2000 ? :
YN Z % Pt i Rred o § fata 6 ge

1 3fg Bl R, A =9 2000 F Ik gro fe T FER
mem?

( Continy,
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. . & o 1993 T 1999 F QT T T o
ﬁnaz%ré@m?ﬁ? WWX’YQ;WZ aﬁﬁﬁmmﬁ?ﬁim@qm“%ﬁ '
goar @ |

RET v
150 — -
140 ﬁﬂﬁl X
20 P // / _mroh 2
110 e NG o
100

y
90 / \/7\ ,/"; /
s * 7
i% >\/\©¢/4:// = AV

30 /

20
10
0

¥ (g 5 H)

1093 1994

1995 ad 1996 1997 1998 1999

~f=HTOHT Y ——Hre) X —-m'—EF!IFﬁZ

(@) Which company had the steepest rise in its exports compared to the previous
year and in which year ?

mw-ﬁgqﬁmﬁmaﬁ‘%m,mmq@@@maﬁ?

(b) Which company had the highest percentage increase in its exports in the year

1999 as compared to the year 1993 and what was this percent 2
s el 3 o 1993 1 Tor 7 1990 4 Fae 3 Sty s afa €
3R T7 fohay wivera oft »
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g what percentage of export should be increased by the companiag x and Y in the
(

yea

7in the year 1996 ?
of 1996 8 FEHN X A2n Y g1 W94 fata w1 fEaa afewm agen a0 fr g5

fafrad 1996 @ Tt Z gr0 fapv o famta = 21 o # s

1996, so that their export becomes double of the export dong by company

(e) Ifin1992,the export by the company Z was 30% less than that in 1993 and tho oxport
by the company X was 30% more than that in 1993, then what was the differonco
(in Rs. crores) between the exports by the companies Z and X In tho yoar 19927 8
afé 1992 1 Feot z =1 ot 1993 3 Forrfa # 30% 9 a1 a1 FH X
frafa 1093 % Forrta & 30% wiferes e, & @ 1992 FoHfl Z 7 X 2 ikt

fbmm sian (e T ©) on 7

n2
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